Math 61 Spring 2007 Name:

QUIZ #2 @ 85 points

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1. In the given figure, MN I BC .

a) Name one pair of congruent angles. Justify your choice. Be specific.
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b) Name one pair of supplementary angles. Justify your choice. Be specific.
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¢) If mZ4=49" and m£B=54", find m£ZCNM . Justify your answer.
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2. Inthe given figure, m||n and m£4 =127".
Find the measure of all angles 1 through 8.
Explain your reasoning.

we 4= )27° -v?/;‘ma@ . ) i

T ) — Ry

we &= me< ¥ =1027° ( corresperett sy

w<b = W< g - /270 (W,é cJ«T{/ /SM\G‘\\\V |
8 \7 /

<) oo d <¥= dy)z/( zm«fﬂgf \\,{

J@0°= 127 °

7/ TE /; |
= 55/ 6‘30 /W/&a{ a 5) | i}
= < = ( ) ) ‘ti

m > » . 3"3"’ /@C/(’/k{?/{' /»!f// r -

m<S = w<s = )

] f/ i‘/(.?x!f; o f g ,1

-7

M< 7:, W< ‘-L)":' S



3. Given: WLM
NP | PR
L=/2

Prove: MR = PR
Frot-
. N LHR, NP L PR ,
2. < NMR, < PPN LA
5. DNNR, DNPR =k 0
4 ANITE jm xR

f,)/y‘(‘AIJ
¢ MR T /R

M
1
N > A R

/\ %]"Q*L ,
2. /7? ﬂj s
2. af -kt B P

| . >
¢ {mﬁzx./hﬁ Vv ke o =

7 e
s, HA
é. Chc/ T

4. Give an indirect proof of the following :

If two coplanar lines are each perpendicular to a third line, then these lines are parallel

to each other.
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State the hypothesis and the conclusion; make a drawing. /
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5.
First, complete the theorem:

The measure of an exterior angle of a triangle is equal to the Sum
of the measures of the nonadjacent interior angles.

Then, prove the theorem (formal proof).

D

State the hypothesis and the conclusion of the theorem.
Hint-Anauxittary construction (life) fsmeeded-tocomptete-the-proof:
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